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. Solve the ordinary differential equation: y"—2y'+y=e".

2. [Given]

=0

Find the solution of the initial value problem: ' —y = f(¢), y(0)=0.

. Consider the 3x3 system of linear equations [A][X]=[b]:

X +x,+2x,=2
X, +x, =2

x, +ox; =1

To determine what value of « :
(1) when the system has not any solution.
(2) when the system has a unique solution.

Give the reason to explain your answer.

. A=A, (Quadratic Form) Kz ¥ #ifi i P (Principal Axes Theorem)
AFHH X +xy + y =1 B g 45 2 MBI ellipse) HRAR ©

R: ’9’ ~: 399 _: ,0, —z.
. EERFERE A x(p ¢)el+y£p ¢),e' +Z¥p _¢)e )
=(p-cosf-sing)e, +(p-s1n9~sm¢)ey +(p-cosd)e,

RIS L U MIEROT K AV = p* -sin0-dp-dO-dg
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